

BUILT FOR COMFORT. DESIGNED FOR PERFORMANCE.

# Wire Connector Brochure

VISION. PERFORMANCE. SERVICE.

**SINCE 1916** 

IDEAL Wire Connectors are available in:



**Box:** For small jobs at hand, just grab a box.



Store 'N Pour<sup>™</sup> Jar: Easy-pour design keeps connectors clean and your shelf organized.



Power Pouch<sup>™</sup>: The new IDEAL Power Pouch<sup>™</sup> connector bags are convenient, re-closeable and stand up on the job.



Barrel: For really big jobs when you can't afford to run out of connectors.

# **CONTENTS:**

# IDEAL and Buchanan Wire Connectors

Twister <sup>®</sup> PRO	2
Twister®	3
Twister <sup>®</sup> LT	3
Wire-Nut®	4
Wing-Nut <sup>®</sup>	5
B-CAP <sup>®</sup>	6
B-Twist <sup>™</sup>	7
WingTwist <sup>™</sup>	8
WireTwist™	9
WeatherProof®	10
UnderGround®	11
MudBug®	11
Twister® Al/Cu	12
PowerPlug®	13
SpiceLine™	14
In-Sure <sup>™</sup> Push-In	15
Grounding	16
Application Guide	17
Ordering Guide	18-19
Wire Range Chart	20

You're a pro. You know to wire the job right you need the best wire connectors available. That's why day in and day out, you choose:

# IDEAL. THE BRAND ELECTRICIANS TRUST.

IDEAL has a connector that's right for every job. Our complete line is built to provide safe, dependable solutions for every application.

Just pick the connector that's right for your job and right for you. You're the pro. You know what works best. IDEAL and Buchanan Wire Connectors. Built for comfort and performance.



1





IRE CONNECTORS



# **Extra leverage for** maximum torque

The Wing-Nut® provides an easy, secure grip when connecting a wide range of wires. The specially designed contoured wings make for extra torque and quick work on any electrical job.



454<sup>®</sup> Blue

Wire Combinations:

2 #18

2 #14

Expanding, square-wire spring accommodates a wide range of wire sizes and combinations

**Contoured wing profile brings** more power to every twist





MIN. 3 #12

3 #12

5 #12

4 #10

5 #10

MAX. 1 #6 w/ 2 #8

\*1,000 Volts signs and fixtures



# **B-Twist**<sup>™</sup>









# The connector made specifically for harsh underground environments

The UnderGround<sup>®</sup> connectors are designed to secure and protect wire connections in a wide variety of below-grade wet location and direct burial applications. Quick and easy application saves time and energy, eliminating the need for heat shrink, resin-packs, and multi-step corrosion kits.

Expanding, live-action square-wire spring for fast, secure, and long lasting connections

UL listed to 486D for use in damp/wet or direct burial/below-grade applications

Deep skirt provides superior moisture resistance to protect electrical connections





# The only twist-on for aluminum to copper connections

The Twister® AI/Cu is the only UL listed aluminum-to-copper twist-on connector that prevents aluminum oxidation while providing a secure connection. Anti-oxidant compound cuts through oxidation on aluminum conductors for improved conductivity and cooler connections.

> Patented swept-wing design for comfortable connections

Pre-filled antioxidant compound prevents oxidation of aluminum conductors

Entry cap retains corrosion-resistant compound

# Twister<sup>®</sup> Al/Cu

# **FAST FACT:**

Aluminum wiring was common in 1970's era construction. The Twister<sup>\*</sup> Al/Cu provides a solution for improved connections with today's copper wiring,



# Twister<sup>®</sup> Al/Cu VIRE CONNECTORS

#### Twister<sup>®</sup> AI/Cu Wire Combinations:

1 #10 Al solid w/1 or 2 #10 Cu solid 1 #10 Al w/1 or 2 #12 Cu 2 #10 Al solid w/1 #12 Cu 1 #10 Al w/1 or 2 #14 Cu 2 #10 Al solid w/1 #14 Cu 2 #12 Al solid w/1 #10 Cu 1 #12 Al solid w/1 or 2 #10 Cu 1 #12 Al stranded w/1 or 2 #10 Cu solid 1 #12 Al w/1 or 2 #12 Cu 2 #12 Al solid w/1 #12 Cu

#### 600 Volts Max

1 #12 Al w/1 or 2 #14 Cu 2 #12 Al solid w/1 #14 Cu 1 #10 Al w/1 or 2 #18 Cu 2 #10 Al solid w/1 #18 Cu 1 #12 Al w/1 or 2 #16 Cu 2 #12 Al solid w/1 #16 Cu 1 #10 Al w/1 or 2 #16 Cu 2 #10 Al solid w/1 #16 Cu 1 #12 Al w/1 or 2 #18 Cu 2 #12 Al solid w/1 #18 Cu

#### WARNING:

- 1. One time use only. Do not reuse connector.
- 2. Do not use on aluminum to aluminum wire combinations.
- 3. Wiring must comply with all applicable electrical codes
- 4. Contact IDEAL for complete wire combination listing.





# A faster alternative to the butt-splice

The SpliceLine<sup>™</sup> in-line wire connector provides a crimp-free, solderless butt-splice. The two-port model supports a wide range of wires, allowing one connector to do the job of three butt-splices. Its end-to-end connection is also a great solution for pre-fab operations.

Transparent polycarbonate shell allows for visual inspection of connection

Slim design fits through 1/2" knockout

**Check port for continuity testing** 



#### FAST FACT:

Perfect for lengthening short wires, the SpliceLine<sup>™</sup> is 2X faster than traditional butt-splices.





SpliceLine

SpiceLine™ Model 42:	600 Volts Ma					
Solid	#20 – #12 solid					
Stranded	#16 – #12 (19 strand or less)					
Stranded Tin-Bonded	#18 – #14 (19 strand or less)					
For use on insulation types TEN_TEEN_THEN_XHEW_T90 pylon or equivale						

42 2-Port

# In-Sure<sup>™</sup> Push-In

# Strip, Push, Connect-The fastest way to make a connection

The In-Sure<sup>™</sup> Push-In wire connector is perfect for residential, light commercial, lighting retrofit and pre-fab wiring systems. The fastest, easiest, no-twist push-in connector on the market.

Clear shell allows visual inspection of the connection

No-twist push-in design reduces repetitive motion fatigue

Full line accommodates #20-#12, 2 to 4 wire connections

#20 - #12

33 3-Port



# FAST FACT:

The In-Sure<sup>®</sup> Push-In has low insertion force for fast, easy connections. Great for pre-fab wiring.

Made in U.S.A.





#20 - #12

In-Sure™ Models 32, 33,	, <b>34:</b> 600 Volts Max.
Solid	#20 – #12 solid
Stranded	#16 – #12 (19 strand or less)
	#18 (7 strand)
Stranded Tin-Bonded	#18 – #14 (19 strand or

In-Sure™ Model 39:	600 Volts Max.
Solid	#14 – #10 solid
Stranded	#12 – #10 (19 strand or less)
Stranded Tin-Bonded	#14 – #10 (19 strand or

34 4-Port

#20 - #12

#14 - #10

39 3-Port

**ACCEPTS** 

#10 AWG

In-Sure Push-



Model:	RE	SIDENT	ht Switch Re	es ceptacles Ce	ling Fans Ca	n Lights Th	armostat C HV	He SM	okelCO2 P Gar	petectors age Door Door	u. Cr	MMERC	iAL ti-Gang SV Ser	vitch Boxe surity Syst	ercoms Ref	essed Lin	IIII	minated S Ref	ignas ceptacles 3-P	hase M
Twister®																				
340® Lt. Blue				•	•			•		•			•	•	•					
341® Tan		•	•				•	•	•				•		•	•				•
344® Red/Yellow	-	•	•				•		•			•	•			•	•	•	•	•
342® Gray												•				•	•		•	•
Wire-Nut®																				
71B® Gray						•							•	•						
72B® Blue						•	•			•			•	•						
73B® Orange				•	•			•		•			•	•	•					
74B® Yellow		•		•	•			•							•	•				
76B® Red		•	•				•		•			•				•	•	•	•	•
Wing-Nut®																				
451® Yellow		•	•	•	•			•		•					•					
452® Red		•	•				•		•			•				•	•	•	•	•
454® Blue												•				•	•		•	•
B-CAP®																				
B1 Yellow		•		•	•			•		•			•	•	•					
B2 Red		•	•				•		•			•				•	•	•	•	•
B4 Blue												•				•	•		•	•
B-Twist™																				
BT2™ Red		•	•				•		•			•				•	•	•	•	•
WingTwist™																				
WT51 Yellow		•		•	•			•		•			•	•	•					
WT41 Tan		•	•				•	•	•				•		•	•				•
WT52 Red		•	•				•		•			•				•	•	•	•	•
WT54 Blue												•				•	•		•	•
WireTwist™																				
WT1 Gray						•							•	•						
WT2 Blue						•	•			•			•	•						
WT3 Orange				•	•			•		•			•	•	•					
WT4 Yellow		•		•	•			•		•					•	•				
WT6 Red		•	•				•		•			•				•	•	•	•	•

		n l	hting	antrols	- Outlets	shting	vent Fans	-1115	alle	- Controls	mps	al	sting	INS	Pa	Lot Lightin	9	ints	_
R	ESIDENT	IAL Idscape Li Por	gn ol Filters/C	controls choor Power Pat	er Outlets io/Deck Li Bat	nroom/Spa Ser	Vent Fans Surity Syst Bar	cems sement/Gr	arage Nn-Sprinkl Sur	er Controne mp/Well P	umps MMERC Lan	dscape Lin	ghting surity Syst Ext	ems erior Light Str	ing setParking Car	Washes Pro	JCessing P	lants Iffic Signal Ele	ction Pu
WeatherProof®																			
61® Gray/Orange					•	•		•				•			•	•	•		•
62® Gray/Red		•	•	•			•		•				•		•	•			•
63® Gray/Dark Blue 🔵		•	•	•			•		•				•	•	•	•			
UnderGround®																			
60® Gray/Blue	•			•	•			•	•		•	•		•			•	•	
64® Gray/Dark Blue 🔵	•				•				•		•			•			•	•	
66® Gray/Dark Blue 🔵														•			•		

# Ordering Guide

# **Twister® Wire Connectors**

Mod	el	Quantity	Cat. No.
		Box of 100	30-340
2408	Lt. Blue	Jar of 500	30-640J
340	LI. DIUC	Barrel of 35,000	30-840
		Box of 100	30-341
		Jar of 400	30-441J
341®	Tan	Jar of 750	30-341J
		Keg of 5,000 (10 bags, 500 ea.)	30-641
		Barrel of 25,000	30-841
0.400	0	Box of 50	30-342
342*	Gray	Keg of 2,500 (10 bags, 250 ea.)	30-642
		Box of 50	30-144
		Jar of 250	30-244J
344®	Red/Yellow	Jar of 500	30-644J
		Barrel of 20,000	30-944

# Twister<sup>®</sup> AI/Cu Wire Connectors

Model	Quantity	Cat. No.
	Card of 2	30-065
	Card of 10	30-765
65 Purple	Card of 25	30-165
	Box of 100	30-265
	Carton of 1,000	30-365

# Wire-Nut<sup>®</sup> Wire Connectors

	Model	Quantity	Cat. No.
/B		Box of 100	30-071
11	71B <sup>®</sup> Gray	Keg of 25,000 (loose pack)	30-271
		Barrel of 150,000	30-871
		Box of 100	30-072
	72B <sup>®</sup> Blue	Keg of 10,000 (loose pack)	30-272
		Barrel of 85,000	30-872
		Box of 100	30-073
	73B® Orange	Jar of 300	30-073J
		Keg of 5,000 (10 bags, 500 ea.)	30-273
-		Barrel of 50,000	30-873
		Box of 100	30-074
	74B <sup>®</sup> Yellow	Jar of 175	30-074J
	74D TOHOW	Keg of 5,000 (10 bags, 500 ea.)	30-274
		Barrel of 35,000	30-874
		Box of 100	30-076
	76B® Red	Keg of 2,500 (10 bags, 250 ea.)	30-276
		Barrel of 15,000	30-876

# Wing-Nut<sup>®</sup> Wire Connectors

Model	Quantity	Cat. No.
	Box of 100	30-451
	Jar of 225	30-451J
451® Yellow	Jar of 500	30-651J
	Keg of 5,000 (10 bags, 500 ea.)	30-651
	Barrel of 35,000	30-851
	Box of 100	30-452
	Jar of 300	30-452J
452® Red	Jar of 500	30-652J
	Keg of 5,000 (10 bags, 500 ea.)	30-652
	Barrel of 25,000	30-852
454∞ Blue	Box of 25	30-454
	Keg of 1,000 (10 bags, 100 ea.)	30-654

# **B-CAP®** Wire Connectors

Model	Quantity	Cat. No.
	Box of 100	B1-1
	Jar of 250	B1-250JR
B1 Yellow	Jar of 500	B1-500JR
	Keg of 5,000 (10 bags, 500 ea.)	B1-B
	Barrel of 25,000	B1-SK
	Box of 100	B2-1
	Jar of 350	B2-350JR
B2 Red	Jar of 500	B2-500JR
	Keg of 5,000 (10 bags, 500 ea.)	B2-B
	Barrel of 25,000	B2-SK
D4 Dluo	Box of 25	B4-1
B4 Blue	Keg of 2,500 (10 bags, 250 ea.)	B4-B

# B-Twist<sup>™</sup> Wire Connectors

Model	Quantity	Cat. No.
	Box of 100	BT2-1
BT2™ Red	Jar of 500	BT2-500JR
	Barrel of 25,000	BT2-SK

# WingTwist<sup>™</sup> Wire Connectors

Model	Quantity	Cat. No.
WT51 Yellow	Box of 100	WT51-1
	Bag of 500	WT51-B
WIST TEILOW	Jar of 500	WT51-500JR
	Barrel of 25,000	WT51-SK
	Box of 100	WT41-1
WT41 Tan	Bag of 500	WT41-B
WI4I Iall	Jar of 500	WT41-500JR
	Barrel of 25,000	WT41-SK
WT52 Red	Box of 100	WT52-1
	Bag of 500	WT52-B
	Jar of 500	WT52-500JR
	Barrel of 25,000	WT52-SK
WT54 Blue	Box of 50	WT54-1
WI54 Blue	Bag of 100	WT54-B

# WireTwist<sup>™</sup> Wire Connectors

	Model	Quantity	Cat. No.
		Box of 100	WT1-1
E.L.	WT1 Gray	Keg of 10,000 (20 bags, 500 ea.)	WT1-B
-		Keg of 50,000	WT1-SK
		Box of 100	WT2-1
	WT2 Blue	Keg of 10,000 (20 bags, 500 ea.)	WT2-B
		Keg of 50,000	WT2-SK
		Box of 100	WT3-1
	WT3 Orange	Keg of 10,000 (20 bags, 500 ea.)	WT3-B
-		Barrel of 50,000	WT3-SK
		Box of 100	WT4-1
	WT4 Yellow	Keg of 10,000 (20 bags, 500 ea.)	WT4-B
		Barrel of 25,000	WT4-SK
		Box of 100	WT6-1
	WT6 Red	Keg of 5,000 (20 bags, 250 ea.)	WT6-B
Contraction of the second		Barrel of 25,000	WT6-SK

Other package configurations available. Please contact IDEAL or your local IDEAL distributor for more information.

### WeatherProof® Wire Connectors

	Model	Quantity	Cat. No.
61 <sup>®</sup> /62 <sup>®</sup>		Asst., Card of 10	30-6162
		Card of 25	30-1161
	61® Gray/Orange	Jar of 150	30-1261J
	01° Glay/Olaliye	Box of 1,000	30-1361
		Card of 20	30-1162
	62® Gray/Red	Jar of 100	30-1262J
	02° Glay/neu	Box of 1,000	30-1362
		Card of 15	30-1163
	63® Gray/Dk. Blue	Jar of 50	30-1263J
-	03° Glay/Dk. Diue	Box of 1,000	30-363

### UnderGround® Wire Connectors

Model	Quantity	Cat. No.
60 <sup>®</sup> /64 <sup>®</sup>	Asst., Card of 10	30-6064
60 <sup>®</sup> Gray/Dk. Blue	Card of 25	30-1160
oo diay/bit. bide	Carton of 100	30-1260
	Carton of 1,000	30-1630
64® Gray/Dk. Blue	Carton of 50	30-1264
	Box of 1,000	30-1364
66 <sup>®</sup> Gray/Dk. Blue	Box of 50	30-1066

# MudBug® Utility Wire Connectors

Model	Quantity	Cat. No.
00® V-II	Box of 25	30-160Y
60 <sup>®</sup> Yellow	Box of 1,000	30-360Y
64® Yellow	Box of 25	30-164Y
64® renow	Box of 1,000	30-364Y

# **PowerPlug® Luminaire Disconnects**

i oweni iug i			
	Model	Quantity	Cat. No.
		Card of 25	30-372
	102	Jar of 75	30-382J
20	2-Pole	Jar of 150	30-352J
		Carton of 1,000	30-102
		Card of 20	30-383X
	103	Jar of 50	30-383XJ
0	3-Pole	Jar of 100	30-353XJ
- 23		Carton of 1,000	30-103X
		Box of 100	30-082
40	182 2-Pole	Carton of 2,500	30-682
	2 1 0.0	w/6" leads, Carton of 1,000	30-682L
	183	Box of 100	30-083
1	3-Pole	Carton of 2,500	30-683

# SpliceLine<sup>™</sup> Wire Connectors

Model	Quantity	Cat. No.
	Card of 10	30-1742
42 Orange	Box of 100	30-1042
	Jar of 300	30-1042J
	Box of 2,500	30-1642

# In-Sure<sup>™</sup> Push-In Wire Connectors

	Model	Ports	Quantity	Cat. No.				
			Box of 100	30-1032				
	32 Red	2	Jar of 300	30-1032J				
			Box of 5,000	30-1632				
			Box of 100	30-1033				
800	33 Orange	3	Jar of 250	30-1033J				
			Box of 5,000	30-1633				
	34 Yellow						Box of 100	30-1034
Con IV		4	4	Jar of 200	30-1034J			
			Box of 5,000	30-1634				
And and a second second	00 Dlue		Box of 50	30-1039				
	39 Blue (#14-#10)	3	3	3	Jar of 150	30-1039J		
	(#14 #10)		Box of 2,500	30-1639				

#### **Grounding Products**

j					Mo	del
Mod		Quantit	y	Cat. No.	00	®/64®
#14 Soli	d 8"	Box of 5	0	30-3390	600	® Gray/Gray
		Box of 5	0	30-3392		
#12 Soli	d 8"	Box of 10	00	30-3399		
•		Box of 1,0	000	30-3496	640	® Gray/Dk. Bl
#14 Strande	d 7-3/4"	Bag of 2	5	30-3183		
		Bag of 2	5	30-3184	66¢ Blu	<sup>®</sup> Gray/Dk.
#12 Strande	d 7-3/4"	Box of 5	0	30-3385	Diu	5
•		Box of 1,0	000	30-3284		
9	C	Box of 50	00	30-3286		
•		Bag of 2	5	30-3287		
•		Bag of 2	5	30-3288		
		Bag of 2	5	30-3289		
Other tail lengths, wire gat	iges, combinations and	package coni	figurati	ions available.	_	
Model	Quantity			Cat. No.		
$\mathcal{L}$	Box of 100			30-092 30-092J		
92® Greenie®	Jar of 150 Bag of 500			30-0925		
7	Box of 1,00			30-192		
	Box of 50			BGR-1		
BGR Green-B®	Keg of 2,500 (10 bag	ıs, 250 ea.)		BGR-B		
	Box of 50			WGR-1		
WGR Green	Jar of 500		1	NGR-500JR		
	Keg of 5,000 (20 bags,			WGR-B		l
Model	Quantity			Cat. No.		
<b>\$</b>	Pack of 50	)		30-3194		
Ground Screw	Jar of 100	)		30-3594		

# Wire Range Chart

4 #10 2 #6
MAX. 2 #8 w/ 2 #12
#10
MAX. 1 #6 w/ 2 #8
MAX. 2 #6
MAX. 2 #6
MAX. 5 #10
MAX. 2 #6 w/ 1 #10
MAX. 2 #6 w/ 1 #10

2 #22 3 #22

2 #20

3 #20

2 #16

2 #18

2 #14

3 #14

2 #12

4 #14

3 #16

3 #12

4 #12 3 #10

5 #12

2 #6

4 #10



For additional details on the entire line of IDEAL Wire Connectors or to request a full-line catalog, visit www.idealindustries.com



Wire Connectors



For complete sales office contact information, visit us at: **www.idealindustries.com** 

IDEAL INDUSTRIES, INC. Becker Place, Sycamore, IL 60178, USA / 815-895-5181 • 800-435-0705 in USA

International offices: Australia • Brazil • Canada • China • Germany • Mexico • UK For complete sales office contact information, visit us at: 5/14 Form No. P-2873 Printed in USA ©2013 IDEAL INDUSTRIES, INC.